F59E REAEMZELEREREKR= 2016.8.6-7@KF1858
R FEH EFL A FiE () iR IERL| &
Mme R—H 5 11745(-0.6)
100m BH EH 4 12722(+0.5)
& &nE 4 12780(+0.2)
Mme R—H 5 23”59(+0.7)
200m BH EH 4 24795(-0.4)
e 2 2 23749(+0.0)
1500m HIE &ZE 3 DNS
W BB 2 431724
Frrp EUER 6 21'36751 54
5000m HIE &ZE 3 DNS
m BB 2 17°05753 19
110mH INK R 4 15728(-0.1) 15745(-0.8) 4
g7 | 400mH INK R 4 56”35 56727 5
3000mSC FE X 1 1109717 15
E = Bk B EF 1 1m87 3
= iERk i 15% 2 DNS
BAR &R 1 6m01(+0.9) 39
ERERE -
BE K 4
4%x100mR IR 4 44727 _
ma 2 :
Mme E—HR 5
ERERE
ma e 2
4%400mR I B 4 3'30783 _
e R—ER 5
BX EF 1
AHE BE&F 4 13755(+2.2)
100m = S 3 15701(-0.1)
B HIE 2 14707(+2.0)
200m INE 1FE=D 3 27731(-0.3)
400m INRE (2125 3 101793 100”84 3
PFE BEIE 2 113719
BTE (I5H 6 2'46788
800m FEr HTE 2 247734
mE W50 1 2'45795
1500m BTE [(I5H 6 545709
B GG=E 2 6’0236
2000m BTE (X5hH 6 1234766 18
5 GEE 2 13'38”83 25




zF

110mH NEH BEF 4 19732(-1.9) 19754(-1.9) 6
_ B HE 2 4m09 21
FENE B -2 ik
K 1EE 1 4m07 22
EIE BEX 3 22m40
vyl = m )
B HIE 2 15m20 16
Atz HE BF 5 8m07 5
. & 5
A 1 HE B3 24m64 5
]} EfEE 5 13m44 16
EXERE
B hex 2
4x100mR INE 1313 3 53726 53”75 5
I EX 3
NHE BEF 4
EXERE
B hex 2
4x400nR INE 1F1=3 3 4'30"45 5
% 1B= 1

BTEH (355




%







